RADICALES

. Efectuar:
o 3J2 + 52 —7J2 + 42 = e 243 - 3/3 + 53 - 43 =
e 6v2 — 242 + 42 - 52 = o 25 + 74/5 - 3J5 + 8/5=
e 3J2 — 48 + 550 — 3,32 = e 412 - 3J75 + 64300 - /108 =
. Extraer los factores posibles de los radicales
81’ = 3/128m*™° = J256b*c™ = }/3125m*ctp* =
Vb'm® = 3/1024m*'c*® = V2,7b% = 3 %m”b“’c =
20,0010 = (|8 pomee | Lbme = J32an°x =
729 243
. Introducir los factores en el radical y simplificar:
1 4x |9 3 /2
2 2= —a = —i\l==
X~/x 3mx 1/3mx 3 4xy 3 27x
2 2a _[9a
3 £3 Y
N3 3 o 3 V16
. Efectuar:
1
¢ 92 - 3.8= ) \g v
543 2475= .9\/5_3%:
5. Racionalizar:
A _ 1 a _
V3 J2 Ja
2 3 _a
32 2.3 ba
3 2 2 2
255 6 542 21 241
B+ 1-43 2 a+bh
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